| dE/dx estimator 1 | | dE/dx estimator 2 |

Entries 218793

Entries 218793

0.45R Mean 1.888 0.45pk PR R e e R i---| Mean 1.822
r Std Dev 1.742 - . . . . . . Std Dev 1.716
U SO SO VU SUUOO SOUUOOE SOSUUS AUUUN U O = U S SO SV SV SUUE S foor ]
0'4: : : : : : : Entries 216828 04: Entries 216828
C : . . . . . Mean 1.899 C . . . . . . Mean 1.833
0.35f i e P f2o++1| Std Dev 1.71 0.35f i e P f2o++i| Std Dev 1.714
0.3H et e e teeeeeio [ Entries 217611 0.3 et e - teeeeeio [ Entries 217611
- : : : : : : Mean 1.898 - : : : : : : Mean 1.832
o : Lo : i | std Dev 1.741 - Std Dev 1.715
O T S | 0.25f - irredredr e T T ]
0 2: Entries 216901 O 2: Entries 216901
P4 Mean 1.899 B Mean 1.833
C Std Dev 1.74{1 - Std Dev 1.714
(1 S| e R R e e B Peeees (O S| i R R e Peeees
r : : : : : Entries 217609 o Entries 217609
o R I . . Lo....i.| Mean 1.898 o R I S S Mean 1.832
0'1: : : : : : ¢ | Std Dev 1.741 0'1: Std Dev 1.715
S i SR AM S S e L e S o 8 I A e
O L_\.Gf IIEI III!IIII!III I I 'E' |!| 1 O J_.LGf :IIII:IIII. I E" 1 _"_I
2 | |+ I I 1
nd B : (n'd B -1
1_1 NHENE: 1_1 iN o
o : pe o : +| 1|+
N vo-j;_; T N "*‘"’L,. T+
B 1r,: B F |5

7 8 9 10 0.9, 7 8 9 10
dE/dx, harm?2 dE/dx, trunc40

-test_1000evt

|tREFt test 1000evt
ItREFit-OR-Test_1000evt
itREFit-ORK-test_1000evt
M I‘tI_FIQIEI'zID‘t OR4 tLeJ.SUtl;]:Joooth 0 9 ____________________________________________ CTTaTTS 218793
t-| Mean 3.26 Yk Mean 0.1552

Std Dev 4.55 Z © |_std Dev 0.4564

Entries 216828 : : : : : | Entries 216828
Mean 3.289 07 ...... SR S S . ;.| Mean 0.1565
StdDev 4.5? i § § § § P |Stdbev 0.458?
------ e Y T 217611 O R T T 217611
: : : : i | Mean 3.285 : : : : : i | Mean 0.1565

Std Dev 4.557 0.5 Breeeen Preeeee Freeeen Foneeens +-|_Std Dev 0.4585|
: | Entries 216901 0 4; T T S . . . | Entries 216901
Mean 3.288 L : : : : : | Mean 0.1564
Std Dev 4.559 : ; ; ; ; i [ std Dev 0.4582

: | Entries 217609 : : : : : : [Entries 217609
..| Mean 3.285 0.2 R Lt Lo . .. Mean 0.1565
Std Dev 4.558 " : : : : : | sStd Dev 0.4585

[
o
=

o e e b 1y gl Ja

T R TP T [ TTT1]
I TFF"F"1T 11T

Ratio

IF

=
-1-1-|-'-!-1-

10 20 30 40 50 60 70 80 095016 20 30 40 50 60 70 80

dE/dx number of measurements dE/dx number of measurements with saturation

0.95

o



	Contents
	Page 1


